
CSE1322L - Assignment 5 (Spring 2025) 

Introduction: 

One of the utilities of DNA in living creatures is the storage of information. Specifically, whenever 

the body needs to generate more proteins of a certain type, a DNA helix associated with that 

protein may be broken up so its contents can be read. At its 



 
 

¶ Your driver should prompt the user for a DNA sequence and pass it to validator(). If the 

sequence is valid, pass the sequence to reverser(), then inverser(), then translator(), and 

then print out the result. If the string is invalid, prints that the string is invalid. Allow the 

user to type in upper or lower case but convert the input to upper case. 

 

Deliverables 

¶ Assignment5.java (driver) 

¶ DNALib.java 

Considerations 
¶ Remember that you will get partial credit for partial work. Try to deliver as much of the 

assignment as you can. 

¶ You should not need any helper methods, though you can add them. They will not count 





SWITCH statement to translate codons into amino acids: 
 
switch(sequence){ 

            case "GCA": 

            case "GCC": 

            case "GCG": 

            case "GCT": 

                aminoacid = "A"; 

                break; 

            case "TGC": 

            case "TGT": 

                aminoacid = "C"; 

                break; 

            case "GAC": 

            case "GAT": 

                aminoacid = "D"; 

                break; 

            case "GAA": 

            case "GAG": 

                aminoacid = "E"; 

                break; 

            case "TTC": 

            case "TTT": 

                aminoacid = "F"; 

                break; 

            case "GGA": 

            case "GGC": 

            case "GGG": 

            case "GGT": 

                aminoacid = "G"; 

                break; 

            case "CAC": 

            case "CAT": 

                aminoacid = "H"; 

                break; 

            case "ATA": 

            case "ATC": 

            case "ATT": 

                aminoacid = "I"; 

                break; 

            case "AAA": 

            case "AAG": 

                aminoacid = "K"; 

                break; 

            case "CTA": 

            case "CTC": 

            case "CTG": 

            case "CTT": 

            case "TTA": 

            case "TTG": 

                aminoacid = "L"; 

                break; 

            case "ATG": 

                aminoacid = "M"; 

                break; 

            case "AAT": 

            case "AAC": 

                aminoacid = "N"; 

                break; 
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